The perimeter of triangle is 68cm. The longest side

is two more than three times the shortest side. The third
side is six less than the longest side. Write and solve an
equation to find the lengths of all three sides.

X 4 3%+ 3xv2= 03
Ix -2 =06§

s 42,

IX=70
—~ 5 X=[(0

X = /D
3x-4=3(10)-¥=2(
Sx+2=3(19)+2=3 3
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The sides of a triangle are in the ratio 2:3:7. The perimeter of the
triangle is 96 cm. Write and solve an equation to find the lengths
of the three sides.

X +3x + Ix= 7L

2.5% _
= 7(9) X=&
=56
SX
=3 (8=

The sides of a rectangle are in the ratio 4:3. The perimeter of the
rectangle is 49 feet. Write and solve an equation to find the
dimensions of the rectangle.

“x U e +tea3x =1
} Yy = 49
D 5>< l[—%\é s
Dimensons. k/>< 2 8.5
1Y /0.5 Stdes are 3x € Yy

—_— IX=3(3.5)=/0.5
IX=4GP=1y

The measure of an angle and its supplement have a
difference of 37°. Write and solve a system of
equations to find the measures of the two angles.

X —% =571 /
The angles, T X &Y = Ly O< s
are 2y = 20
= 2,
P .
\_’ W= /08,$
158.5 +4.=L50
~ . §~ = ~/68.5

=T/



One angle is three less than five times the other angle.
These angles are complementary. Write and solve an
equation to find the measure of each angle.

T‘le O.V\Slesa(“g_
15.5° ¢ 7487

. 5 X=5(5.9) = =1753
by -3 =50 ( -94.¢

= . 370
g &25 (P A tég‘«?‘ 7SS



